FREZLELLD,

© c4xi106=

147 X3.8=
292X 15=
21.7X1.39=

8.88 X /.77 =

0
5/
(6
@ 59ox155=
0
(9
(10

INEEDTEIESEEER )L 6 4574
-1-




FREZLELLD,

o 1
Q@ x:-

87.12+99=

37.08+3.6=

WIN

8|5

:‘0
|

INEEDTRIRSERERIL - 6 4224
-2-




FREZLELLD,

@ cos-17=

O 39483+1.23=

11,33
12 " 50
0 -2 -
30 70
o -
100 ~ 50
® - -
19 " 17

INEEOTERSEEER L 6 4F2E
-3-




sFRZLELLD,

3. 6

22 121

o4

36 7

.9

3 11

.2

19~ 3

T

15~ 12

17.95 _

23 6

1 1

0.6+—X | —=

() 5 X1
2 2

| —+—X05=
O -

4 3

—X—=0.3 =
O <,

@ ocosxi125:05=

INEEDTEIESEEER )L 6 4574
-4-




